R:d A ERERAF 1028 RALIres
RFRFAPEFF 9T RALFL

TEPE Bkl
Lr@4$F_2 F -
i z;ﬁ—?dég\‘._ﬁj’vﬁ*ga
BHNERLIRPUE X RARE .
v RE(x 548 4204 0 % 100 &)
Figure 1
Subglottal
56 o~ pressure
90 + 1
80 Excessive relaxation
2 1 pressure
@ 70
E 4
= 60—
£ 1 B Relaxation pressure becomes
= 50 ] A\inadequate about here
€ : Regionof _ C
E 40'_ equilibrium ™~
% 30+
20+
m; Negative relaxation pressure
1
i AT TR T el ‘W T IR A e S |

—60 50 —40 -30 -20 =10 0 +10 +20 +30 +40 +50 +60

Question 1

cm HE{J

Figure 1 consists of a subglottal pressure of about 6cm H,O during phonation of a
sustained vowel superimposed on a relaxation pressure curve (Zelmin, 1998). Describe
the lung volume at A (5%), B (5%), C (5%0), and D (5%0) from the anatomical view point.

Question 2

What are the two pairs of laryngeal joints? (4%0) Illustrate their potential functions and

with diagrams. (16%o)

Question 3

What is fundamental frequency? (4%) What are the reasons for the differences among
fundamental frequency for male adults, female adults and children? (6%) What are
their voice-source spectrums respectively? (1090)



Question 4
Provide a classification of Mandarin consonants by place and manner of articulation. (20%o)

Question 5
What are the salient acoustic features for the Mandarin stops and their purposes? (20%o)



